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PART-A [ $—9g5|
Answer any four of the following queétions : ' 1x4=4
o 2RISR (@Il BIAod ©ed mle ¢
(i) What is intermediate good ?
TGRS| T JECO B (I 2

(i) If MPS =1, what is the value of MPC ?
It MPS =1 Zd, MPC A i 39 2(3?

(iii) Primary Deficit = Fiscal Deficit—__ | (Fill in the blank)

(iv) Which one of the following is not a quantitative credit control
measure of the central bank ? '

e @0 @HE IIEF ARARDS A9 Fagd o T2
(a) Bank rate '
kP 2
(b) Open market operation
e gl A=
(c) Variable reserve ratio
ARSI A TO A SHi©
(d) Direct control
goy (=
(v) Write one merit of flexible exchange rate.
sl IeT a2 9Ph) JRE TRl |
(vi)  What is GDP deflator ?
GDP TG 2

Answer any five of the following questions : 2%x5=10

067 2SR (F-(PICal Aoird Bed niS ¢

(i)  Differentiate between capital expenditure and revenue expenditure.
I T G ST A S ML et |

(i) What are the components of high-powered money ?
SHEFOE Juid SAMRE 5 62

(iii) What are the transactions that are included in the capital account
of balance of payments ?
AR e sEEl e [ B R TOOG 3 AT ?

(iv) Define personal income and personal disposable income. .

- gfess Bk @R UGS TR WNEE K@ @i |
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(v) As a result of increase in investment by Rs. 125 crores, national
income increases by 500 crores. Calculate the value of the
multiplier.

R 125 @It Bl g Tt SR SR 500 (I R giw =301 Sl
i e |
(vi) Distinguish between stock and flow.
GO <R SEE S AL TS |
(vii) Write any two implications of revenue deficit.
AT QoA (- 7l ASR (Al |

Answer any two of the following questions : ' 3x2=6
fF=fRS 2ok @I 7iog ©ed 1l &
(i)  Write any three limitations of barter system.
R 2R - fone SPRdl e Sl |
(i) What is balance of payments deficit ? Write two causes of balance
of payments deficit. _
AR ol witHe B2 AR ol qofod 775 e Srad Sl
(iii) Write a short note on :
Autonomous and Induced Investment.
AR GIl (@Tedl ¢
Fog 4R Hfers [l
(iv) What is a government budget? What are the components of
government budget ? - -

I QG B2 FFHIE AcEcoa Srmmel & 52

Answer any two of the following : 6x2=12
Ao ST (F-(Plcl Fiod e WIS 3
(i) Discuss the motives of demand for money ? What is liquidity trap ?
5+1=6
T BIRVE SRS S S | SR @ 52
(i) Briefly discuss the income method of calculating national income.
From the following data calculate Gross National Product at market
price (GNPyp). 4+2=6
SIS W Sl TR SR 2o A S0 SOl | Toos ST AR

G W I SIS Sesiive e et |
(in Rupees crore)

(=i o)
(i) Mixed income of self-employed 400
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(in Rupees crore)

(i i)
(11) Compensation of employees 500
ORI (eal Fo7Fd
(iii) Net factor income from abroad (=20)
o™ (S (=6 = _
(iv) Net Indirect Taxes (6 G F4) ' 100
(v) Consumption of fixed capital 120
23 EaeEa Soiretl '
(vi) Profits _(5l9) 350
(vii) Rent  (JEl) ' 100
(viii) Interest (3%) 150
(i) Discuss the functions of commercial bank.
T TICFT ST DA T |

(iv) Define aggregate demand and aggregate supply. Complete the
following table and determine the equilibrium level of income :

. 2+4=6

A ifenl =g AAfET @elieE Sitel @Rl [F gredt s A s

SRARY SiE e [T St ¢

Aggregate Consumption Savings Investment Aggregate
Supply Demand
e el TSt AT e e wifRw
(AS) (€) (S) (1) (AD)
900 780 40
800 700 40
700 620 40
600 540 40
500 460 40
400 380 40
300 300 40
200 220 40
100 140 40

5. Answer any one of the following :
o ARGt F-(Preal Gpiod Tes wie 3

- (i) What is fiscal policy ? Discuss the impact of changes in government
expenditure and changes in taxes on equilibrium income.

8x1=8

2+3+3=8

AGCHE Afe 52 SEE Siem SaE EeE GeE cRee Wt e
RS AS@ SCEG Fe |
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(i) Explain the determination of exchange rate under flexible exchange
rate- system.

ﬁﬁaﬂaﬁﬁmma}mﬁﬁmmﬁmwﬁml _
(iii) Write short notes on : _ 4+4=8

SR Gl el 8
(a) Demonetisation

REERER

(b) Fiscal Responsibility and Budget Management Act, 2003
G wIfEg T G ACE ARDIE B2, 2003

PART—B / A=A

Answer dny four of the following questions : 1x4=4
fCoR ePSCETIR (F-CPIeTT ST Ted WIS 3

(i) What is underdeveloped economy ?

e S2ife Jere 5 @I ?

(i) In which year World Trade Organisation (WTO) was formed ?
R <ifdey AB (WTO) F© Al 9197 a1 2@ ?

(iii)  Write the full form of SHG. '
SHG 9 =5 =il el |

(iv) Write one objective of NITI Aayog.
NITI SIGIR G307 STah Gl
(v) Golden revolution was related to —
(a) fish production
(b) horticulture production
(¢) milk production
(d) agriculture production
GEIRE K2R wfvs fes) —
(a) ST CeAMET A
(b) CWTRT SRAMEA HZF
(c) T CAMER A
(d) PR CAMER A
(vi) Define privatisation.
GOl IRE (7ol |
Answer any five of the following questions : 2x5=10

a XISEa (TPt 5o ©6h WS 2

(i) Mention two non-institutional sources of rural credit.

oA A 7o SRR S S Sl |

(Choose the correct option)

(¥% [R5 [eg F18)
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(i) Write two long-term goals of Five Year Plans of India.
SlCea AAeAiE AAfFesaE 76 MEeEn] o @Al |
(iii) Mention two types of unemployment prevalent in 'the agricuiture
sector of India.
. oiEred $EACE WfTe 72 ATIEE @R TR S S|
(iv) What is the importance of green revolution in the Indian
agriculture ?
Ol FRCHE e [eEe oy G2
(v) Write two positive effects of LPG policies in the Indian economy.
SEed SHifore LPG Fifeq 76 49 de[ (el | :
(vi) Write two merits of globalisation. '
EiERIGaeE 76 A4 S et |
(vii) Mention two objectives of disinvestment.
AREceE 70 Sl Sl el |

Answer any two of the following questions : 3x2=6 |

059 - 7o 2ted ©ed (el

(i) Write a note on Industrial Policy Resolution, 1956.
Soifae Tife 4wk, 19563 [{@@ @i Giel el |

(ii) Brifeﬂy discuss any one serious environmental problem India is
facing at present time.
TS AR SRS FYI REA F~FIe 95 wFed AR AErE R
AL Sl B! |

‘ (iii) Discuss the composition of India’s foreign trade on the eve of
independence.

FiTor ATIZCS SRSAEE MR ey sfote [@ea STl S |

(iv) Explain the role and importance of education in human capital
formation.
ATA A Stoc e e @k wwg qef S|

Answer any two of the following questions : 6x2=12
fva -l Fip Ars Bed ule 3 :
(i)  Write a comparative note for India, China and Pakistan on the basis
of
(aq) Demographic indicators
(b)) Human development indicators
(@) SR S @)
(b) R SaaeE Formern fete ore, S gaz. AiRwiea 93
CERETRE 1Pl SRS Tl |
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(i) Briefly discuss the challenges India is facing in the context in the
' context of employment. '
ISR (@0 SRS T 8! TPHISCE FREFCA SICEbal Sl
(iii) What is economic reform ? Explain the need for economic reforms
in India. ; 1+5=6
w2fteos HER B2 SRear SAeT FFE AR I e |

(iv) Outline the common developmental successes and failures of India

and Pakistan. , _ 3+3=6
Slgw 8 ARSI AR CEE CRGEARERSISIUE RFeold [REE et
Answer any one of the following : 8x1=8

b3 @I G5 A TER 7S &

(i) What do you understand by agriculture marketing system ?
Discuss government measures to improve agriculture marketing
system in India. 2+6=8
SRAIGR T TS [ @I 2 SR FRIATH T T FH0o 2= T
SRR ATCHASTEA ST ST |

(i) Analyse the concept of sustainable development. Also discuss the
strategies for sustainable development. 4+4=8

Az GHNCTE ARel ReaEe el | Ao e SHAEE (PR STl
3cal |
PART-C / 9-=1d
_ ( For Old Course Students in lieu of Project Works)
Answer any four of the following questions : 5x4=20
Roa @I 5IAfG et Sed wie _
(i)  Write a critical note on public debt.
SRS AR A 93 b Gl Gl
(i) Discuss the sources of demand for foreign currency.
TR U IR STl SitEn S|
(iii) Can GDP be used as an index of country’s welfare ? Justify your
answer.

GDP-& & (TCA TN @3B pparercet T2 1 I 32 (O ©et
o e e |
(iv) What is human capital ? Discuss the sources of human capital.

S S 2 TR S St Seete] Sl Sl

(v) Briefly write about India as a knowledge economy.
i STl 2R e [REe AeEwee Al

(vi) Discuss the circular flow of national income in a simple economy.

40! e SLAIre SR AT 2R[E el P |

X
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